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1st Semester (CCFU[': NE[')

ECONOMICS

Paper : M] A1-T (Multidisciplinary Major)

(Microeconomics)

Fuli Marks : 60 Time : Three Hours

The figures tn the margtn indicate full mart<s.

Candidotes are required to give their answers

in their own wards as far as practicable.

Group - A

Aflswer any lez questions : 2xl0:20

1. What is budget line?

2. What is substitution eff,ect?

3. What is the shape of average cost curve?

4. What do you mean by inferior good?

5. Write down two exceptions to the law of supply.

6. What is opportunity cost?

7. Distinguish between fixed cost and variable cost.

8. What is net profit?
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9. What do you mean by price discrimination?

10. What do you mean by liquidity preference?

11. What do you mean by speculative demand for money?

12. What do you mean by oligopoly?

13. What is normal profit?

14. Distinguish between money wage and real wage.

15. What do you mean by marginal revenue product?

Group - B

Answer arryfour questions : 5x4:20

16. Discuss the properties of an indifference curve.

17. Discuss the relationship between Average Cost and

Marginal Cost (AC and MC) with the help of a diagram.

18. What are the limits to the power of a monopolist?

19. Discuss briefly the modem theory of rent.

20. Write a note on the.law of variable proportion.

21. Discuss the marginal productivity theory of wage

determination.

Group - C

Answer any twoquestions : l0x2=20

22. Whatdo you meanby elasticity of demand? What are the

determinants of elasticity of demand? 4+6
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23. What is indi0krcnce curve? Dscuss consumer,s equilibrium

with the help of indifference curve and budget line. 4+6

24. Explain how equilibrium price and output is determined
undermonopoly.

25. Discuss the liquidity preference theory of interest.
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